ECE 321 - Quiz #1: Name

Op-Amps, Instrumentation Amplfiiers, Push-Pull Amplifiers.

April 7,2016

1) Write the voltage node equations for the following op-amp circuit.
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2) Assume an ideal op-amp. Write the voltage node equations for the following op-amp circuit:

% vm 3k
|
Y
=3
tk yr kv
3V *
5k 5k )
\;{Q =V ¥y
\"é%‘% t“/@”{” T
g " P - Y
e “Sle
(v
Ve Lp =V .
St e ~
NS e T
he- I sk




3) A light sensor has the following voltage - resistance relationship

R:(M)Q

Lux

Design a circuit which outputs

+ -10V at 10 Lux
+10V at 20 Lux
+ Proportional (-10V to +10V) for light levels between 10 and 20 Lux
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4) Determine the voltages and currents for the following transistor circuit. Assume an ideal transistor with
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5) Find the voltages and currents for the following push-pull amplifier. Assume both transistors are
Darlington pairs:

. VE=14V
. B=1000
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Bernie Sanders Trivia!!! Which four of the following are fellow Senators of Bernie Sanders? (Senators

from Minnesota, North Dakota, South Dakota, and Montana - the other four are monsters from Godzilla
films)
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